P22 F4 X 100mR

#® O R EEBEEK
R IAT AT R R

B Rk (KJ) 49. 02 AR (A - AR - PR - R 2006 9AB5H 17:10 #4hb—x
A=A 358
1#H
1E WNHF—ACER 52.65 2%& HATH(=H) 52.86 3% AlfEih—A(=H) 53.07
6l—v 5V—y 8V—v
A I i ik Iy - - K4 ik top - - KA At

1 1490 TH #Hk¥E®R) vy w2 1 751 A & (2)  f=thhoar 11983 ik EIEQ) Y97V vhh

2 1493 AR A @) AT PR 2 745 EW L ZiX(Q2) TH) ban 2 1965 FH HEEG) 7 tr

3 1502 ARE BRI ®)yw ) 3 748 FH O E¥Q) iV 3 1970 FHHOAEEG) =v'F 2)h

4 1489 YT EKRQ) Vi = 4 746 BHEAKER(2) by 13F 4 1972 WA EIEER)  ThAT
4% FHP(ZH) 54.20 bx& TARIFH (=) 54. 42 “EKRMET(ZH)
2V-y 3V-y 4v-y DNS
R i 1t I o - K4 ik b - - KA At

1 1668 MitAR 1=3£(2) <tF thy 1 1910 ‘B PFEA@Q@) 447 M 1 )

2 1665 JIM  F @) 977 it 2 1905 HAT HYW Q) FhsT 7Y 2 ( )

31663 A FizE@) A4 ) 3 1900 =H HIHE®QG) 8 Tht 3C )

4 1667 EY A Q) N wUTH 4 1908 HLAK W(2) ANy Yy 4 ( )

—EH(=F)

v=y DNS
i Ml A 1t

1 ( )

2 ( )

3 ( )

4 ( )
248
1% RieF(=ZHE) 54.23 2% WLWFH(=H) 54.43 3% AJEWT(ZHE) 55. 40
6l—v 5V—y 8v—v
F=0 = Fun - K4 hf I=p = Fun - K4 ks == fun - K4 b

1791 &R E/AQ T T 11323 KALREFL(3) I8 74) 1 2390 HAF k@) 4Hh o4

2 796 O A1) T ¥ 2 1322 BT EEQ) AL £t 2 2387 i FEG) Ah 32

3 794 HE KW (@) Fh) W 3 1325 H'F &G 740 v 3 2805 WIHSEZEAR (1) YvPh Uk

4 793 RN EEG) ®)vF T 4 1337 /i THEQ@ 7YY FHY 4 2389 O EEADG)  HhTF AT
4 RET(EHE) 55.71 5% A+ — B (ZH) 56. 45 SEmE (=)
4v-y 3=y V= DSQ, R2
F=0 = Fun - K4 hf I=p = Fun - K4 ks == fun - K4 b

1991 HEEE EEQ) vy am 1 1986 #AF HNZE2) 74 F 4 1 1705 =RKFLZEER) U= a)f

2 980 HIEARLI(3) AT Y= 2 1980 /hH ARFL(Q2) A4 Tah 2 1707 AR EF(@B)  YeEb 74)

3 981 WIARMLTYER)  YvEb /0 31979 FTHESM©Q)  9FF 72h 3 1704 - #ANE3)  t7a TYh

4 996 /NEOBRIR() AT v 4 1976 —WH Q) AF)t 2 4 1702 FEE - BRACB) AN v

JL#I DNS:Ri5 DSQ:k4& R2A—/A\—Y—> 23



P22 F4 X 100mR

#® O R EEBEEK
R IAT AT R R

B Rk (KJ) 49. 02 AR (A - AR - PR - R 2006 9AB5H 17:10 #4hb—x
A=A 358
3%
1F AEP(EH) 54.21 2% HHk(ZFH) 55.81 3% VIR (=H) 56. 00
3V-y 4=y 6L—y
=4 - fun - K4 ki I=§" = Fun = K4 nF I=5 = fun - K4 ks
12377 %O W4 Q) ®F U 1 1298 FEE R AN PR 1 1390 @I ER& Q) by th
2 2375 HME AWLE2)  ITH R 2 1299 BH  FRQ) A28 ax3 2 1391 WA RA Q) FhAT %
3 2371 KB BEQ) Wwh= )7 3 3637 MM FEREQ) Y AR 3 1392 MR AR (B) Wit af
4 2373 HHEIEEQ) 77 MR 41300 /AR WREQ) 2T 4 1388 E AEEQR) ey 1)
fE (=) W — B (=)
5V DNS  TV=v DNS
=4 - fun - K4 ki =4 = FunT - K4 nF
1) 11488 ¥l KFI(3)  #7% @)
2 ( ) 2 1497 S E OBRE(2) Y <)
3 ( ) 3 1496 KIH FH@) A Fh
4 ( ) 4 1492 T BEQ) w9V v

JL#I DNS:Ri5 DSQ:k4& R2A—/A\—Y—> 23




